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QUESTION 1

A once active entitlement has been changed to inactive, what are the implications of this change?

A. Users in the now inactive entitlement can no longer perform actions on their machines.

B. Machines previously deployed under the now inactive entitlement are shut down.

C. Machines previously deployed under the now inactive entitlement are powered off.

D. Users in the now inactive entitlement can no longer perform snapshot operations on their machines.

Correct Answer: A

QUESTION 2

What is the first action that needs to be done while creating a new service blueprint using the Advanced Service

Designer?

A. Select a workflow

B. Fill out the Blueprint Details

C. Create the Blueprint Form

D. Select the Provisioned Resources

Correct Answer: A

QUESTION 3

The installation of the laaS components fails with the following error.

The laaS installer failed to save the Model Manager Data and Web components

What are three possible causes for the problem? (Choose three.)

A. Connectivity issues to the vCloud Automation Center appliance.

B. The Repository Service failed to start on the laaS server.

C. Trusted certificate issues between the vCloud Automation Center appliance and the Identityappliance.
D. The installation is being attempted on an unsupported operating system.

E. The .NET Framework 3.5 Feature is not installed on the target server.

Correct Answer: ABC
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QUESTION 4

An organization is designing a new vSphere cluster to support a new product implementation.

The following challenges have been identified by the vSphere administration team:

The organization has the vSphere Enterprise License.

The network administrator needs to gather virtual machine network statistics over a long period of time.

The network administrator needs the ability to quickly access and assess the traffic of specific virtual machines in the
event of an attack.

The network administration team members have previously had problems implementing manual
etherchannel configurations on their physical switches, resulting in production outages.
The new cluster\\'s initial size is 15 hosts.

The administrator designing the vSphere cluster is evaluating the need for vSphere Enterprise Plus licenses to be
purchased to upgrade the licenses at the company.

Which three features of a version 5.5.0 vNetwork Distributed Switch will address the challenges and justify the upgrade
to vSphere Enterprise Plus? (Choose three.)

A. LACP in Dynamic Mode

B. Port Mirroring

C. Network vMotion

D. DirectPath I/0

E. Single Root I/O Virtualization

Correct Answer: ABC

QUESTION 5

When a vSphere administrator attempts to remediate a host with Update Manager, the host is unable to enter
maintenance mode.

Which condition is likely preventing the host from entering maintenance mode?
A. A virtual machine on the host has a removable device connected.

B. A virtual machine on the host is configured to use Fault Tolerance.

C. A virtual machine is powered off and cannot be migrated to another host.

D. A virtual machine is configured with a local .vswp file.

Correct Answer: A
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